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• �)���=�������������
���8�?�������c�:���2�
x2 + 2x− 3 = 0

sin x + cosx =
√

2/2

��� �?�������������)�����:�O� �
� � �:�c� ���¢¡O���
�=�?�������c�:�x£¤�8�����&¥¦�2§��¢���¢¡O���¢�,���¢¨ �¢���&�0� �

sin x + cosx =
√

2/2
√

2 sin(x + π/4) =
√

2/2

sin(x + π/4) = 1/2

x + π/4 = sin−1(1/2)

x = nπ + (−1)n π

6
− π

4

��© �����:�xª0�4�V�:�c�:�¬«­�:� sin x + cosx =
√

2/2 ����¥Z�i�������:�x�����=¥ sin−1( 1

2
) ®i�\¯ ��¯Z���¢�°� �

«­�¢��±~�������
��«+�V���¢�:¯

² ³kv�s�{&´,µ+r�t~u�v¶r�v�·¹¸ºt#»0{)µD{&v�s�t2r�¼%n�o¤q�r�s�t~u�v

• � �
���?���2¡:�����k���½¥¢�~§��¢�8¥
���i���¢�¾� �i«­�¢�H±#�������
��«+¥¦�c¿k�2���2�?���À�����c�:�
����Á ��£¤Â¢����� f(x) = sin x + cosx ®����¢�=� d

dxf(x) = cosx− sin x ¯b�)�¢�2���~«­�:���:®
= sin x + cosx + C

«­���½����£¤�,±~�:���V�����?�)��«+�c�?���2¡��N�����c�:� C ¯
• Ã����:£!�����¤¥¢�_¿k�2���2�?���À�����8�?�������c�:�ÅÄ ��Â<�����?����«
� ���2�,® d

dxf(x) �À�
Æ����V���0� ����« x ¯*ÇR��¥0�_�N���c� ���=�����
«­����±#���c�:���À�,� �#¯

È ¸Ét#»Ê{)µ+{&v�s�t~r�¼%npoOq�r�s�t2u�vxw

• Ë1�c¿<�=���=�:�������B�=�?������������£¤��Ì¬�¢���½Í<���V�:�c����Í¢�c�:¯�Îi�¢�R�V�:£O�,�������V�:�c����Í¢�c�:®¦�&�¢�À±N�x�À�&�����½��±2��Â<����«D�V����¥¢Ì�¯
Ï
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• �bÁ ��£¤Â¢�c�:�bã4�À¥ äÚ���2��£å� Á ��£�®¢�?�¢�8�����c�:�çæ � y′ = −y

dy

dx
= −y

=

−
∫

1

y
dy =

∫

dx

− ln y = x+ ← �
����¥¢¥¬������±~���H���N���?�&��«����?���=¡��N�������������&��� ���
���)Â<�:���V��Í¢���
y = e−x−C = e−xe−C

= C ′e−x

«­�:�½�V�:£¤��±2�����V�����?� C ′ ¯bÎ
�¦�R���c��±2�����¢���?�¢�8�����c�:�¬�����À¥x�H�)������� y(0) = 3 ®¦�i�������:���
C ′e = 3

C ′(1) = 3

∴ y = 3e−x

• èé�����¢����Í<�������=�?�����������Å®¦�
�,±2�����B�c��� �)¥¦�c¿<�=���=�?���À���B�=�?�����������
� ÃD�c�N�V�VäF���N¥¦�2�8� © �¾¥¦�2���c�����������=�
��«D���:�2�&¥¦�2¡:���=�~ä Ï
��ê ���¢�8���8��ª0��¥¦���'Ä �½�����:� sin y′ ��� yy′ ��� (y′)2

��ë �:£¤��¡��=�¢�2�:���=� © �������c�¢¡¤�=�������������2�)���H��� y ®¢¥¦�2���c�����������=�)��« y ®����H¥¾���¢�2���R±~� �2ì*±2�c�=�?���
• �)�����)�À�)�����,�=�������=�V�
��Ì Â<����«�¥¦�_¿k�2���2�?�������B�=�?�������c�:�

í)îVï ð�ñVò¢ó'ô<õ¢ñ�öø÷|ù*ñ�ó'ú�ûRü

• Ë1�2���������������8�)ÍH�8���)�����,Â¢� Ì ���À±2���k£¤�=���¢���¢¡¤��«Åý2� �\þ
• èé�x����� xy äFÂ¢�À���¢�:® ���¢�,���c�:ÂH���À�i������¨ �c��¡¤��ÍH�:�¦�
���¢� z äF� Á ���1�­�&�¢�À±N�4±2���xÍH�,���?Ì?���¢�c��¡����c¨:� � äÚ§H�2�À¥x�V�����2�¢¡����x���)�¢�2��¡��?�&��«+�
���c���À�

• ª0��±2����¥¢�����p¥¢�c���=±~��������§��2�À¥¢�
���*���=Â¢���8�V�=�?�i���¢�¾� �
��«D�¤¥¦�c¿k�2���2�?���À���Å�8�?�������c�:�
• �bÁ ��£¤Â¢�c�:�
èé�4�O§��=��¥Å®¦���¢�=��������� x �N��Í�Í¢�_�N�&����¥
����£¤�,�
�������=�=¯+èé�ÿ�O£O�:�?���4����¥����4��Í����2��±2�,��«+Â¢���=¥¢�������N�=®?Â<��Â��¢�����������
��«��¤�N��Í¢Í¢�c�
�À�
¡��������c��Â¢����Â<�������������������¤�_�N�iÂ<��Â��¢�����������Å®¦�\¯ ��¯ dx

dt = rx «­�:�)����£¤��±~�:�:�N���?� r ¯bÇ1�����¢£¤���������&ÂH�:Â¢�¢�À���������x��«D�i�:�c�:�=�
¥¦�
�����½±N������¡��,����¥¬�����2Ì¬¨ ���c� s ����Í¢Í¢�c���)Â<�2�½£¤�:�:���Å¯�ÃD�c��¥����¢�,�=�?�����������¬���¾¥¦�8��±2����ÍH�����¢�,ÂH�:Â¢�¢�À�����c�:�x��«D�N��Í¢Í��_�N�2¯
� ã4�¦¥¦�=�c���¢¡����i�����¢¡�����«�Â<��Â¢�¢�À�����c�:�
�c�4�O£¤���?�������

dx

dt
= rx − s

� � �:�c� ���¢¡��
dx

rx − s
= dt

1

r
ln(rx − s) = t + C ′

rx − s = ert+C

x =
1

r

(

ert+C + s
)



Ð¦Ñ ����×�����Ö	��
�ß­×
�
�����¦ÙLÕ­Û�ÝHá �

� �)�¢�À�)���R���)��Ì¤���*�����������c�=®¢Í¢�¢�½�i�,±2���¢�¢���&���2���&�����&���¢����ÍH���:�1�8�?�������c�:�x���2Â¢���=���2�?�N�iÂ��?Ì¦����±=�����cÌ
• èF«B�
�&���=Â¢���=���2�?���D���¢�½�=�?�����������¤���¾��Â¢��±~���¢����®?�c�i±2���OÍ<�½�8�����c�=�+����¡:�~�ø�,���2�����&��«k�����R�V�:�c�¢�������Å�
�­���8��¥������R�V��Â¢Â¢���2£¤�2�?������Ì
£*�����2���À���Ü�

• ª ��Ì*���¤¥¢�����p���¢��¥¦�����=±#���c�:�¬§H�2�À¥B�½� ë ��Ì�®¦�)����±N��£¤��� �
Ï ¯½Ë1�������À��� ±2�c���¢�8�2®¦Í Ì¬���2Â����:±~���¢¡ dx

dt
�&�c���4¥¦�c¿k�2���2�?�&�?��£�Í<�2�N�2®¦�:¯ ¡H¯��¢® Ï ® â ®¦ä Ï ®?ä â ®B¯c¯�¯

â ¯��1�x���¢�,�À�V�¦±2�c���¢�=�)��« dx
dt = k ®�¥¦�N����£*��� Ì¾���_�����������������½�
±~�:�����=��Â<����¥¦���¢¡����O�������V����Â<� k

� ¯½Ë1�����p����£¤�,��£O� �������c���¢�=�&��������Æ��������&¥¦�c¿<�=���=�:�R���������½�i�¢ÂÅ¯b�)�¢�8�V�,�����,��Â¢Â���� Á ��£¤�������V�:�c�¢���������
• �)���2����±=����ÍH�,£*���?Ìx¥¦�_¿k�2���2�?�R��Â¢Â¢��� Á ��£*�����1�������¦���������)�:�¬���¢��¥¦�����8±#���c�:�¬§��=��¥Å®¢ÍH�8±2�����V���
�,£*��Ì¾��������¥¦�c¿<�=���=�?�
� �
��«D�c�?���2¡:���������
� � �=�c�8±#�����¢¡O��������Â¢Â¢����Â����À������±2�����V�����:�8�&� �
Â¢���:Í¢���2£

í)î�� �
ó����+ò �"!1úVó$#&%('
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• ÇR�4¥¦�_¿k�2���2�?�������B�=�?�������c�:�����2ÂH���N��Í¢���1�c«+�i�,±2���
Â¢�¦� x ����¥ y �:�?���
� �)���À¥¦�=�=®¢��¯ ¡�¯��
g(y)dy = f(x)dx

∫

g(y)dy =

∫

f(x)dx

G(y) = F (x) + C

y = G−1(F (x) + C)

• �)�����
��Ì Â<�,���&�8����Ì¤���¾���������:®:«­�:�&� Á ��£¤Â¢����®*)ø���:Í¢�c�=£ � �2� Ï ¯ �,+ ���=�V������� Ï8â �� �����������¢�,���¢�c���À���B�������¢�,Â¢����Í��c�=£�� y′ = −x/y, y(1) =
√

3

dy

dx
= −x

y

= ← ���2ÂH���N��Í¢���R«­�:��£
1

2
y2 = −1

2
x2 + C ′

y =
√

C − x2

Ã����)���¢�,�c���_�������Å�������¢��Â������=®¢���¢Í��V���c���¦��� x = 1 ®¦�i��¡:�~� y =
√

C − 1 ®¦��� ��� √C − 1 =
√

3 �:� C = 4 ¯��)� ���
y =

√

4− x2

• Î
�¦�O�V�:£O�2����£¤�=�=®D�
�¾£*��Ìç������¡:�~���c�O���2Â�������Í¢���¾¥¦�c���=±~����Ì�¯ ë �=��±~�x�i�¬�¢�2�8¥°�V�:£O�¬�
��Ìç���ç±2��� ���=�V�������¬�=�?�����������°���:���
���2ÂH���N��Í¢���R«­�:��£
¯
�.- �2���2�N���k�����c�:��Í?ÌÊ� �
� èé�����¢�½�:�����c¡:�¢£¤�2�?�=®¦�
�������=¥¬���¢�����¢Í��V���c���¦���c�:� u = y/x ����¥ v = ay + bx + k

• �bÁ ��£¤Â¢�c�,��« u = y/x �/)b����Í¢���2£ � �~� Ï ¯ �0+ �¢�8�����c�:� â �



Ð¦Ñ Ð21�Û43pÙéÛ65DÖ#×7�¦Ùé×98BÛ*��Ö;:<3�Ý=�>�*�4�¦ÙÚÕÜÛ�Ý�? @

� �~�V���c��¡ y/x = u ®¢�V�:�c�:�1���¢�,���¢�_�������B�������¢�,Â¢����Í¢���2£
� xy′ = (y − x)3 + y, y(1) = 3/2

xy′ = (y − x)3 + y

=

x(x′u + u′x) = (xu− x)3 + xu

xu + x2u′ = x3(u− 1)3 + xu

u′

(u− 1)3
= x

∫

(u− 1)−3du =

∫

xdx

−1

2
(u− 1)−2 =

1

2
x2 + C

x2

y2 − 2xy + x2
= −x2 + C ← ���=£O�=£�Í<�2�)���¾�V�¢ÍH���8¯�Í���±N¨

� �¢Í��V���c���¦���c�¢¡ x = 1 ����¥ y = 3

2
®¢�i�������:���

1
9

4
− 3 + 1

= −1 + C

4 + 1 = C

C = 5

� �¢Í��V���c���¦��� C Í��:±N¨*���¤���¢����Í<�������=�?�����������
����¥����c£¤Â¢���_«­Ì:®¢Ì��:�x�&�����Å¡��2�
���¢�����H�V�
�2�,�­��£¤Â¢����±2�_�½«­�:��£z���)Í<�~�����2��äF�c� ��¨ ���¢¡?�
• �bÁ ��£¤Â¢�c�,��« v = ay + bx + k �")b����Í¢���2£ � �~� Ï ¯ �A+ �¢�8�����c�:� âB@� ������� y′ = (x + y − 2)2 ¯

v = x + y − 2

∴ v′ =

y′ = (x + y − 2)2

=⇒ v′ − 1 = v2

v′

v2 + 1
= 1

arctan v = x + C

arctan(x + y − 2) = x + C

arctan(x + y − 2)− x + C ′ = 0

í)îÚí C-ö�D¶õ öFEÊò¢ó���õ¦ó$Gçö�'RòIHJDZ÷K#&%('
�Dõ¢ñ�öø÷ML

• Ë1�c¿<�=���=�:�������B�=�?���������������&�:�2��Ì*�����~«­�¢�\®¢�=��Â<�=±~�À������Ì¾�_«+Ì��:�x�)���?�)���*¥¦�*�:Â¦����£¤�ON8�����c�:�x�:�
£¤�¦¥¦�=�'�¤�VÌ¦�V���2£
• ª0�O£O�¦¥¦�=�D�x�VÌ¦�V���=£ �H�V���¢¡
¥¦�_¿k�2���2�?���������8�:�H���������4�À���=�:�V���2�R���¢�=�ç£¤�¦¥¦�2�D�_��� Á Â¢���À±~�c����Ì4ÍH�8±2���H�V���i�O�����½Æ������,¥¦�8��±2����Í¢���¢¡
�c����� �

• �bÁ ��£¤Â¢�c�:�/)b����Í¢���2£ � �~� Ï ¯ @P+ �¢�=�V������� Ï7@
�Úã4� Á ���¢¡¾Â����:Í¢�c�=£¾�&Ç �N���¢¨4±~�:�?��������� @ ���¤¡?���'��«�Í¢�����¢�����ÿ�&�¢�À±N� Ï �4�¤�cÍç��«b�����_��������¥¦�À�����������8¥B¯&Ã¢���=���4�
�����2�1�������½���?���
���¢��������¨
���1���¢�O����������« â ¡?���RQ�£¤���Å®<����¥4���¢�O£O� Á ���¢����®k¨:�2Â¦��Â¢�N��±#����±=�����cÌ��¢�¢�c«­����£!Í Ì4�����c�������¢¡H®<���¢���1���¢�����������O����£¤�
�N������¯ ë ���-£���±N�
�����c�½�&�c���k���¢�=���,Í<�,���x���¢�������¢¨¬���
���¢�,�2�H¥x��« Ï �¢�:�¢�TS
� ª������)�
�,�)���?�=���)�¢���=�?�����������
¥¦�=��±~����Í¢�c��¡O�����p£��H±N�������c�&�c��������������¨
��ë ���p���*¥¦�H�
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Ï ¯býV���¢�H�)���¦�½���&���¢������£¤���������#þ → �
�����=�
���WV � �â ¯ � ���_�&���XVY�
� ¯ � ���_�&���¢�<V ��£¤�:�¢�?�)��«+�����c�&�c� â ¡:���
èF«Å�
�R�V�2�b�����1��£¤�:�¢�?�ø��«Å�����c�ø�c�¾���¢�R������¨����2Â¢���=���2�?���=¥OÍ Ì y ®:���¢�������_�i¥¢�=���_��ÌO����� �b�cÍ¬ÂH�=�ø¡:���

@ ¯ ë �=��±~�����¢�,�=�?���������������=�
dy

dx
= −2

( y

400

)

=
−y

200

�&�c�������¢�,���¢�c���À���'±2����¥¢�_���c�:� y(0) = 100 ¯
• ãÿ������±~�:£OÂ��c� Á ��Ì¦�����2£ £¤��Ì
±~�:£¤�=�½�:�¦���¾£O�:����±~��£¤Â¢��� Á ¥¦�c¿<�=���=�?���À���'�8�?�������c�:�%�­��¯ ¡�¯R�¢���¦äF���c�¢�8���8®��¢��¡��¢�=�R�:��¥¦�=�=®H�¢���¢ä
���c¡:�2Í¢�N���À±=�

Z nI[*r;\bsz¸ºt~»Ê{)µ+{&v�sDt~r�¼%n�o¤q�r�s�t~u�v

• ÇR�¢�����¢�2�½±2���:���)��«D¥¦�c¿k�2���2�?���À���Å�8�?�������c�:���i�������½�i�,±2���������������À�
���¢�,� Á ��±#�½¥¦�c¿k�2���2�?���À���B�8�:�H���������
• èF�½�À�&¥¦�¢�����O���¢��«L�:±#�&���H���=®��_«+�i�������:�,��«­����±#���c�:� u(x, y) ®¢�c���R¥¦�_¿k�2���2�?�������k�À�

du =
∂u

∂x
dx +

∂u

∂y
dy.

èF«+�
�1«­�:�¢��¥
�¤¥¦�c¿<�=���=�:�������B�=�?��������������«D���¢����ÍH���:�R«­�:��£å�&�c��� du = 0 ®¦�i�,±=�����B�_�½� Á �:±#�½¥¦�c¿<�=���=�?�������Å�=�?�����������
• ë �������O¨ �¢���-�_«+�c�½���&� Á ��±#�&�:�
�����	S
� �i���_���2����� Ï ��Ë1�_¿k�2���2�?���À���'�=�?�������c�:�x��� ��¨¦�
�c��¨��:� M(x, y)dx + N(x, y)dy = 0

� �i���_���2����� â � M ����¥ N ���������=���c��Ì¬±~�:£¤Â¢�c�=£¤�2�?������Ì*Â����V�������B¥¦�2���c�����������=�=®¦�\¯ �:¯
∂M(x, y)

∂y
=

∂N(x, y)

∂x

• �bÁ ��£¤Â¢�c�:�/)b����Í¢���2£ � �~� Ï ¯ U ® + ���=�V������� â �¢® (2xydx + dy)ex2

= 0, y(0) = 2

� �i�¢�8±N¨*«­���&� Á �:±#�8�
2xyex2

dx + ex2

dy = 0

∂y

(

2xyex2
)

=

∂x

(

ex2
)

=

� � �:�c�:�1�c�=�
∂u

∂y
= ex2

u(x, y) = yex2

+ h(x)

∂u

∂x
= 2xyex2

+ h′(x)

2xyex2

= 2xyex2

+ h′(x)

h′(x) =

u(x, y) = yex2

+ C ′

0 = yex2

+ C



]

� �¢ÍH�����_���¦��� x = 0, y = 2 �
0 = 2 + C

∴ yex2 − 2 = 0

• èF«��¤¥¦�c¿<�=���=�:�������B�=�?���������������&�����&� Á ��±~�=®¦�
�,£*��Ì¤����Ì¾���¤£*��¨:���_�½� Á �:±#�
� Î
Ì¾£����_���cÂ¢��Ì �c��¡¤�O«­����±#���c�:�
±=�����c�8¥¾���¢�¾� �
� èé���¢��Â<���������=®¢�&�c����«­�¢�H±#������� F (x, y) ®��i�������:���

F (x, y)M(x, y)dx + F (x, y)N(x, y)dy = 0

∂y (F (x, y)M(x, y)) = ∂x (F (x, y)N(x, y))

� Ã¢�:�&�V��£¤Â¢�c�À±~�c��Ì�®��i��������������Ì¬�����V��£O� F (x) ��� F (y) �:�¢�cÌ:®¢�\¯ �:¯b�V���¢¡����~äF����������Í¢���½«L��±~���:���=®¢����¥¬�����2Ìx�����:�
F (x) = exp

∫

1

N

(

∂M

∂y
− ∂N

∂x

)

dx

F (y) = exp

∫

1

M

(

∂N

∂x
− ∂M

∂y

)

dy

• �bÁ ��£¤Â¢�c�:�/)b����Í¢���2£ � �~� Ï ¯ UA+ �¢�=�V������� �:â ®¢�V�:�c�:� 2xydx + 3x2dy = 0 ¯
F (x) = exp

∫

1

3x2
(2x− 6x) dx

= exp

∫
(−4

3x

)

dx

= exp

(

−4

3
ln x

)

= x−4/3

��ë �=��±~�:® ���¢�,�8�?�������c�:�xÍ<�=±2��£¤�=�=�
x−4/32xydx + x−4/33x2dy = 0

2x−1/3ydx + 3x2/3dy = 0
∫

3x2/3dy = 3x2/3y + h(x) = u(x, y)

∂xu(x, y) =

∴ h′(x) = 0

u(x, y) = 3x2/3y + C ′

3x2/3y + C = 0

^ _ t~v�{&r,µ ¸ºt#»Ê{)µ+{&v�s�t~r�¼ n�o¤qxr�sDt~u�v�w

`)îVï a�ó'÷½óÅò��+úP�)öøúb'½õ¦ñVöø÷Rü

• cb�2�R���¢�����¢�=�½±~�À�����
��«�¥¦�_¿k�2���2�?�������B�=�?�������c�:�¬�������½�
�,±2�����������������R±2�������=¥¬���¢� ê �c�¢�8���½Ë1�_¿k�2���2�?������� � �?�������c�:�Å�
y′ + p(x)y = r(x)
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èF« r(x) ≡ 0 ®¢���¢�,�8�:�H���������x���R±2�������=¥x�¢��£¤��¡:�2�¢�=�����=®¦����¥¬�������V�:�c�¦���c�:�x�À�&¡:�c�:�2�¬Í Ìk�

y(x) = Ce−h, �&�¢�2��� h =

∫

p(x)dx

Î
�¦�½�c«+�_�½�À�)�¢���¢ä\�¢�:£¤��¡��=�¢�2�:���=®����¢���V�:�c�¢�����������½�OÍ¢�c�½£¤�����,±~��£¤Â¢���À±2�����=¥B�
y(x) = e−h

[
∫

ehrdx + C

]

, �&�¢�=��� h =

∫

p(x)dx

� èF�&���½���2��Ì*�=�:�VÌ¾���*¥¦�2�����������¢����ÍH���:�R«­�:��£��¢�À����®¢���2��Í<� ��¨¾Â���¡�� ��� ä ��@ �LÍ?Ìx�����c�¢¡¤���?���2¡:���������¢¡�«L��±#�����N���
• �bÁ ��£¤Â¢�c�:�/)b����Í¢���2£ � �~� Ï ¯ ]0+ �¢�=�V������� Ïhg� �����������¢��«­�:�c�����&���¢¡����¢�c���À���Å�����c�¢��Â¢����Í��c�=£�� y′ = y tanx, y(π) = 2

y′ − (tan x)y = 0

y(x) = Ce−h

�&�¢�=��� h =

∫

− tanxdx

= ln | cosx|
y(π) = Ce− ln | cos π|

= Ce0

C = 2

y(x) = 2e− ln | cos x|

• �bÁ ��£¤Â¢�c�:�/)b����Í¢���2£ � �~� Ï ¯ ]0+ �¢�=�V������� g ® y′ + 4y = cosx

y′ + 4y = cosx

y(x) = e−h

[
∫

ehrdx + C

]

�&�¢�2��� h =

y(x) = e−4x

[
∫

e4x cosxdx + C

]

Î
�¦�
∫

e4x cosxdx =

∫

e4xd(sin x)

= e4x sin x− 4

∫

sinxe4xdx

= e4x sin x + 4

∫

e4xd(cos x)

= e4x sin x + 4(cosxe4x − 4

∫

cosxe4xdx)

= e4x sin x + 4e4x cosx− 16

∫

e4x cosxdx

17

∫

e4x cosxdx = e4x(sin x + 4 cosx)

∴ y(x) = e−4x

[

1

17
e4x(sin x + 4 cosx) + C

]

=
1

17
(sin x + 4 cosx) + Ce−4x

• �)���,�¢��£¤��¡:�2�¢�=�����TQ������¦äF�¢��£¤�:¡��2���2���H�+�c���¢�=���½¥¦�c¿<�=���=�:�������B�=�?�������������)�����:�1£*���?Ì¬Â¢���:ÂH�=�V���c�8�
� � �=���:������¡��¢£¤�2�?�>)b����Í¢���2£ � �~� Ï ¯ ] ® + �¢�=�V��������� â�� ä � �¢¯



d?Ñ �ji&×#Ö�ÝkÛ���ß�ßcÕk�
�����¦ÙLÕ­Û�Ý g

`)î�� l óÅò�÷Rö�'Rú�úVñM#&%('
�Dõ¢ñ�öi÷

• � �2���=�����Å�¢�:�¦ä\�����¢�=���R¥¦�c¿<�=���=�:�������'�8�:�H���������H�R±2���4ÍH�O±~�:�?�:�2�����8¥x���?���x�c���¢�=���&«­����£
¯<�1�¢����«����¢�=£ ���1±2�����c�8¥����¢�OÎ
�2���¢���¢�����
�8�?�������c�:���2�

y′ + p(x)y = g(x)ya

• � �����¦�������Å�bÎ
Ì¬���¢Í��V���c���¢�������
��« u = y1−a ®¢�
�,±2���4±2��� ���=�V�
���¢����ÍH���:�1�8�?�������c�:�x���?���
u′ + (1− a)p(x)u = (1− a)g(x)

�&����±N�
±2����Í<�����������=¥¬�����c�¢¡O���¢�,£¤�~����� ¥��������¢�,Â¢���2� �������)���¢Í����=±~�������Å¯
• �bÁ ��£¤Â¢�c�:�/)b����Í¢���2£ � �~� Ï ¯ ]0+ �¢�=�V������� �:â ® y′ + y = −x/y ¯

y′ + y = −x/y

yy′ + y2 = −x

ªÊ��¥¢�~§��¢� u = y2

u′ = 2yy′

���¢�2�Å® u′ + 2u = −2x

u(x) = e−h

[
∫

eh(−2x)dx + C

]

�&�¢�=��� h =

∫

dx = x

∴ u(x) = e−x

[

−2

∫

xexdx + C

]

= e−x [−2(xex − ex) + C]

= −2(x− 1) + Ce−x

y = ±
√

Ce−x − 2(x− x)


